Ratio to ATLAS

d @far“} [1/GeV]

[EEY

0.5

13000 GeV pp
L B B I

_| 1T 17 7 17T | T Tt | Tt T T T T T |_ ﬂ
N __ 13
B ttHT (ATLAS semileptonic ttbar) 13
=
m  ATLAS o
. --©O-- Herwig++ 2.7.1 default N
= --3-- Herwig 7.2.1 default 43
[  —&— Pythia 8.308 default 15
B @
— 1.=
B |
[ ] =
B ™M
— —<
o™
B o
o
— 1M
—
- —%
~ .5
— -
| — O
- iE
- — ©
Q
| I V)]
©
o
| ] (&)
| r | | | | | | | T | | | | | | | [ = -
:l T T T T | T T T T | T T T T | T T T T |:
— =2
1
L —0.5
| " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

Hr "} [GeV], N** = 6



	Contents
	Page 1


